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NEW QUESTION 1

A user is presented with the underlying hardware and software needed to develop and offer applications via the Internet from a cloud

service provider. Which cloud model is this user consuming?

A.    Software as a Service

B.    Platform as a Service

C.    Application as a Service

D.    Infrastructure as a Service

Answer: B

NEW QUESTION 2

When your wireless client device roams from one AP to another on the same network, which IEEE protocol can be used to

authenticate the clients faster?

A.    802.11r also called Assisted Roaming

B.    802.11k also called Assisted Roaming

C.    802.11r also called Fast BSS Transition

D.    802.11k also called Predictive Based Roaming

E.    802.11r also called Predictive Based Roaming

F.    802.11k also called Fast BSS Transition

Answer: C

NEW QUESTION 3

Which two effects does TSPEC-based admission control have as it relates to WMM clients? (Choose two.)

A.    Deny clients access to the WLAN that do not support WMM.

B.    Allow access only for VoWLAN traffic when interference is detected.

C.    Enforce airtime entitlement for wireless voice applications.

D.    Ensure that call quality does not degrade for existing VoWLAN calls.

E.    Deny clients access to the WLAN if then do not comply with the TERP standard.

Answer: CD

NEW QUESTION 4

You are a wireless network administrator preparing a plan for a HDX deployment. Which feature do you use to minimize co-channel

interference?

A.    Load Balancing

B.    Rx-SOP

C.    Band Select

D.    CleanAir

Answer: B

NEW QUESTION 5

You are classifying traffic to match an ACL, which protocol and port range is required for RTP traffic?

A.    UDP: 16384-32767

B.    UDP: 1024-65535

C.    SCCP: 12222-12223

D.    TCP: 1024-65535

Answer: A
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NEW QUESTION 6

Which four options are the HTTP methods supported by a reset API?

A.    RETRIEVE

B.    GET

C.    PUT

D.    DELETE

E.    COPY

F.    POST

G.    SET

Answer: BCDF

NEW QUESTION 7

You have a Cisco Prime Infrastructure instance that has multiple MSEs and Cisco WLCs. You plan to use Prime Infrastructure to

identify the most critical security issues on each manages device. Which option must you use to calculate the thermometer score for

Cisco WLCs and MSEs?

A.    Highest scoring Cisco WLC plus the lowest scoring MSE.

B.    Highest scoring Cisco WLC plus the highest scoring MSE.

C.    Lowest scoring Cisco WLC plus the lowest scoring MSE.

D.    Lowest scoring Cisco WLC plus the highest scoring MSE.

Answer: C

NEW QUESTION 8

Which two types of interface events are common for CleanAir? (Choose two.)

A.    Microwave interference

B.    Co-channel interference

C.    Spontaneous interference

D.    Persistent interference

E.    Wi-Fi jammer

F.    Planned interface

Answer: CD

NEW QUESTION 9

You are configuring a WLAN to support video and voice applications. Which QoS profile do you assign to the WLAN ?

A.    Bronze

B.    Silver

C.    Gold

D.    Platinum

Answer: D

NEW QUESTION 10

You use the Cisco ISE profiler service to classify endpoints,You use multiple probes to correlate the profiled data. Which two types

of profiling probes can establish IP-to-MAC address binding when the endpoints are on different subnets? (Choose two.)

A.    RADIUS

B.    NMAP

C.    Net Flow

D.    DHCP

E.    SNMP trap

Answer: CD

NEW QUESTION 11

Which of the below characteristics of RPL is true?

A.    RPL is designed for lossy networks.

B.    RPL is an IPv6 link-state routing protocol.

C.    RPL can send only messages in secured mode.

D.    RPL uses hello messages to send routing updates to its neighbors.

        Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com |  Page 2/4  |

http://www.ciscovceplus.com/?p=6598
http://www.ciscovceplus.com/?p=6598
http://www.profprojects.com/?page=upm


This page was exported from - PassLeader New Cisco Exam Dumps - CCNA, CCNP, CCIE, DevNet, CCDE Certification ExamDumps VCE and PDF and Braindumps and Practice Tests 
Export date: Sun Mar 24 6:40:25 2024 / +0000  GMT

Answer: A

NEW QUESTION 12

Which factor is most important when user Heartbeats to maintain the high-availability status of an application?

A.    Bandwidth

B.    Latency

C.    Routing

D.    Round-trip time

Answer: D

NEW QUESTION 13

In Cisco Prime Infrastructure, which protocol is used to send traps to northbound notification?

A.    HTTP

B.    SMTP

C.    TFTP

D.    SNMP

E.    JSON

F.    HTTPS

G.    NMSP

Answer: D

NEW QUESTION 14

Your customer has two cisco unified wireless LAN Controller deployed in high availability SSO. Which statement about client SSO

is true?

A.    All clients are synced between active and standby WLC.

B.    WGB and the clients associated to the WGB need to be re-associated post switchover.

C.    For SSO to work, both WLCs must have a high availability SKU UDI.

D.    All client statistics are synced.

E.    New mobility is supported.

Answer: B

NEW QUESTION 15

As per the 802.11ac standard, which statement about MU-MIMO is true?

A.    MU-MIMO can be used in both directions, downstream and upstream.

B.    MU-MIMO was introduced in 802.11ac Wave 1.

C.    MU-MIMO can be used only in the downstream direction.

D.    MU-MIMO can be used only in the upstream direction.

Answer: C

NEW QUESTION 16

For "Local mode" APs, which multicast mode is recommended when configuring VideoStream on a Cisco WLC?

A.    multicast-multicast

B.    multicast-direct

C.    multicast-unicast

D.    multicast-routing

Answer: A

NEW QUESTION 17

Which two Cisco ISE option simplify the use of EAP-TLS authentication in a BYOD environment using PKI? (Choose two.)

A.    Simple Certificate Enrollment Protocol

B.    Lightweight Directory Access Protocol

C.    Online Certificate Stats Protocol

D.    Native Supplicant Provisioning

E.    Certificate Signing Request

Answer: AE

NEW QUESTION 18
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How can SWIFT objects be accessed in an OpenStack architecture?

A.    using a PATCH request that contains delta of the file applied to an object

B.    using a GET/PUT request to download/upload an object as a whole file

C.    using a DOWNLOAD/UPLOAD request to download/upload an object as a whole file

D.    using a RETRV request to provide block ranges of the object that must be accessed

Answer: B

NEW QUESTION 19

RX-SOP is configured for the 2.4 GHz and 5 GHz radios with the value set as Low Threshold. Which two values represent the

threshold values for each band? (Choose two.)

A.    -80 dBm for 2.4 GHz

B.    -82 dBm for 2.4 GHz

C.    -85 dBm for 2.4 GHz

D.    -80 dBm for 5 GHz

E.    -82 dBm for 5 GHz

F.    -85 dBm for 5 GHz

Answer: CD

NEW QUESTION 20

Which two objects are considered node metrics in RPL? (Choose two.)

A.    Throughput object

B.    Latency object

C.    Colour object

D.    Hop count object

E.    State and attributes object

Answer: DE

NEW QUESTION 21
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